
My Vocational Situation

Name ________________________________     Date _________    M ___   F ___     Age _____

Education completed ______________________        Other _____________________________

List all the occupations you are considering right now.

Try to answer each of the following statements as mostly TRUE or mostly FALSE.  Circle the
answer that best represents your present opinion.

In thinking about your present job or in planning for an occupation or career:
1. I need reassurance that I have made the right choice of occupation. T F
2. I am concerned that my present interests may change over the years. T F
3. I am uncertain about the occupations I could perform well. T F
4. I don’t know what my major strengths and weaknesses are. T F
5. The jobs I can do may not pay enough to live the kind of life I want. T F
6. If I had to make an occupational choice right now, I’m afraid I would

make a bad choice.
T F

7. I need to find out what kind of career I should follow. T F
8. Making up my mind about a career has been a long and difficult

problem for me.
T F

9. I am confused about the whole problem of deciding on a career. T F
10. I am not s



For questions 19 and 20, circle YES or NO.

19. I need the following information:
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